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&= Awa w smnfRa (01-15)
Tgmwd s ¥ I AT

1. srerTeT T e oo srader & gam?

(A) €T (C) ATt (B) Temsit (D) &-wrm

2. ‘ufgw’ 3flv 3w fRemsit & T Hor # Fed |

(A) &= (B) arae (C) 59 (D) 3w

3. oo urr o ot T 8 araier & foe o o -

(A) st (C) 3wt (B) ffaq (D) stz

4. ‘TR T BTA T Y £2

(A) smard fagemy (B) wsidam (C) 4t 29 (D)

5. ‘Hewfa AEa-pT WY F BT AABR 27

(A) 39F 3@dR  (B) THIfh BN

(C) =7t srei@r (D) stfaedif swsr

6. B foaa uer & g §2

(A) @14 (B) 2 (C) T (D) TR

7. foafafE & e o=z ‘fadwor 77 ¢-

(A) Tt (B) e (C) Fret (D) qH

8. T&=t sira Bt et fasara wiferar 82

(A) =R (B) 75 (C) 311 (D) i

9. foFeT FT1 I TAiET FeT AT 82

(A) 33 w1t (B) wfs &1e (C) 3nf #1e (D) smufes e

10. T Fifegra & 'sfaama s & =t s|arg

foraa faa?

(A)werEaE  (B) e RE g
(C) it fagerany (D) wret @emor fHg

fager (1-4) : Fenfafad e veam 39w smurfed usii %
Iw fafEd

T Td AT ToTd e T Hratee gt G qEt B
31 srfee W & fawa =8 & <t = e w1 wva
% 3 &, 39 Wifae T AT 37T UereE 7 A AT §
s 7 & iearfea = 8| fay & e g A S os dr afs
grar &1 39 i Heearemians gt 1 Ue BT wfar et
AT Sraens ferdear 3 spgrar w811 Jsafusiat 3 gaaa
B HET (AT, W Tg Sae & Afeaw &10ii | off o= o1; Fife
TE 31T e % &g BT oA~ 1T faate w2 g an1 afz 37
Rgd faar e, ufaer & siant | @1g foar ST, weg sroar
HTH 9 T foa1 Aran at fHeg & 98 srq9a wvar s W w2
0 & e g mar §1 O 3 sraeR ond €, S e At
TS ST T 8, 3 370 Sfaa % forg sifaard
T Tt €, ey wecagel a2 § 6 v e s w3t
e 7 feran? af? gt 3o el & o arer avgsit &1 spara 7@
T 3t afs ‘T & 2 orud i seha & g o
&g BT IR TEaT T |
1. ‘wferer & sfamt & wig g smar &' -aifea & ared §-
\(A) IR H (B) Fadar A (C) A (D) ®HA

fave frgor Harg were & wfaaifiar o
y/ WA qaigd faarerd vaer s wet- 9 Hise 9w- 10

_1_(C) We are taught grammar by him.
1 > (D) We are teached grammar by him.

12. "eft-iTa faate & gt o1’ 3ud araaier & fear
fardraoT _
(A) otz (B) #g& (C) wt (D) WeAt-Hid
13. ‘Heermten’ e e J e 7 87
(A) 5ET + THIEN (B) HeaAT+Hi4T
(C) weq + amwiem (D) v +3THig
14, “fifdes @ g 7 apma?
(A) e 5T 787 R F a1l Bl
(B) TETHS HT4 T ATe| B
(C) va-3ra @1 &
(D) T @ Bt
15. femfefam # oo e o 7¢ §-
(A) 394 Fae g3t famifaa foam
(B) =t T 221 Y HEHTd 1 FTa el AT T
(C) 3mua 3 ze1 7 1A
(O) R EHRFEFRTfrae
it fawg w smanfa (16-30)
Ffawedra wait & I S
Q.16 Eggs are sold ____the dozen.
(A) at (B) for (C) by (D) to
Q.17 Raman is studying ___ the university.
(A) in (B) at (C) on (D) from
Q.18 Do you know the reason ___his absence
(A) for (B) of (C) by (D) on
Q.19 Meena has not eaten anything ____ monday.
(A) from (B) since (C) by (D) for
Q.20 Find out the correct spelt word.
(A) adverisity (B) adversity
(C) advercity (D) advercety
Q.21 Select the right option.
(A) affedevit (B) afidevit (C) affidavit (D) affidevit
Q.22 Find the correct spelling
(A) livlihood (B) livelyhood
(C) livilihood (D) livelihood
Q.23 Find the correct spelling.
(A) irrelevant (B) irelevent
(C) irrelavent (D) irelevant
Q.24 We must respect the elders.
(A) Elders must be respected by us.
(B) Elders must be respected.
(C) The elders must be respected.
(D) Respect the elders we must.
Q.25 He teaches us grammar
(A) Grammar was taught by him.
(B) Grammar will be taught to us by him.




Q.26 It is impossible to do this .
(A) Doing this is impossible.

(B) This is impossible to be done.
(C) This must not be done.

(D) This can't be done.

Q.27 Let me do this.

(A) Let this be done by me.

(B) This is to be done by me.

(C) Let | do this.

(D) Let us do this.

Note- Read the passage carefully and answer the
following questions.

Light like water is life. Extinguishing the light
means extinguishing life. The sun is the source of
this light. The sun is also a source of heat. Sun is
responsible for food production. Sun evaporates sea
and river water. Water vapour accumulates in the sky
and condenses as clouds. The cloud then falls to earth
as rain. Rain softens the soil and makes it suitable for
growing food crops like rice, wheat, barley etc.

Rain irrigates the land. Sun helps keep us healthy by
killing harmful germs. Nowadays solar energy is being
used more and more. It is even used in cooking our
food. When energy is becoming scarcer day by day, the
sun can help us a lot.

Q.28 What is the source of light and heat for Earth?
(A) The moom (B) The sun

(C) The stars (D) The planets

Q. 29Why is solar energy becoming more popular?
(A) It is a renewable energy source.

(B) It is cheaper.

(C) Energy is becoming scarcer.

(D) All the above.

Q.30 How does rain help with growing food crops?
(A) It kills harmful germs.

(B) By evaporating water.

(C) It's provides irrigation.

(D) Light for photosynthesize

ot fawg o smurRe (31-65)
gt vt & I e

Q.31 d e afvat #5er: 10, 15, 20 fFae & g wwadr
&1 UH WY qE UTA: 6:10 T THGAT &1 THE YT UF 1Y q
& THE?

(A) uTd: 7:00 75t (B) WTa: 7:20 &5

(C) wra: 7:10 ¥t (D) Wra: 7:30 T

Q.32 814[159-2{7x8+(13-2x5)}]

& T HYA U UTH 2l B-
QA) 20 (B) 121 (C) 122 (D) 221

\//

X

fave frgor WAl et & wiaadifiar 7w
TATEY qa15d faaTed waer weiel weM- 9 Jige dw- 10

2)

Q.33 3 9a iR ae | 375 et wiiew aret fhas didet w91 =1
qEdr 82
(A) 80 (B) 800 (C) 8000 (D) 1000
Q.34 I WA FI 10:30 F1 | SATAT & q4TWE: 5:50 o1 Iaar
#1 9g faa g wiar 82
(A) 742 (8) 79210 fiae
(C) 72 20 A=z (D) 8 €2 20 fiae
Q.35 TUTEEe 584 X 128 X 617 X 413 H THIE HT 3T ahm?
(A)2(B)3(C)4 (D)5
Q.36 12/13 T Arme® ufde ™ qarsit 3R I9H! qdadi
It ST et -
(A) -12/13,-25/13,1/13
(8)13/12,13/25,113
(C) -12/13,25/13,113
(D) wig 7
Q.37 29 5 3t A fanirsa wean 3-
(A) 82550 (B) 92583 (C) 74395 (D) 82641
Q.38 6,10, 15 FT INFFE U EP1I-
(A) 10 (B) 20 (C) 30 (D) 40
Q.39 12 F Uad® q 39Tag &hl-
(A)1,2,3,4,6,12

12, 24, 36, 48
(8)2,4,6

24, 36, 48
(©)1,2,3,4,6,12

12, 24, 36
(D) ig &
Q.40 5/14 % & =1 wewr 9ie f& ww = 7/42 &
(A) 2/11 (B) 2/13 (C) 4/21 (D) 4/23
Q.4113% 3.003 3ilv 2.050 & =% HI 39 IFT H HleT ATQ
at afvorrT wTw g -
(A) 5.053 (B) 5.100 (C) 5.953 (D) 6.006
Q.42 294 % s BIET F BIEt WA 9§ pon faear s f6 o
TR UTH HEAT TF 01 1 217
(A)2(B)3(C)6 (D) 24
Q.43 18 3fk¥ 72 1 e AT kT B~
(A) 36 (B) 108 (C) 30 (D) 54
Q.44 afg ¥t & e § 25% P g P g dt =ua # faq
ufdera & &t & =i7e & = spafafda w2
(A) 20% (B) 25% (C) 15% (D) 30%
Q.45 UE Bisit & # 1200 mafiat & ferg 20 & & »is=
T 81 400 3t it 3 S | wrwElt fEaa fom ot aentt?
(A) 15 & (B) 16 B (C) 177 (D) 18 ea
Q.46 20 ez w4t 3 10 Hiew Tt sraarER 2 # 2 Hiew
TERTE T UTHT € | §Hb T B 10 Hiew st a4 5 Hiew dEt v
I SATAATER Eh H 2 faa | gt Zeh F et Y rgwré geit-
N (A) 87z (B) 6 iz (C) 4 #ie® (D) 2 iz »

ooooooooo
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Q. 47 UF YorTEt 5 Hiew/Hdbe Y a1l | 2 Her 30 fae F fFad
faeit sfex &1 g8t 7 Foi?
(A) 55 Tz (B) 45 faries
(C) 35 faeiniizz (D) 49 fEeriies
Q. 48 UFH FHI B 7165 H F99 H 10% &N 2aT ¢ | T 1 54
qed BP?
(A) 9150 (B) 7164 (C) 9133 (D) A177
Q. 497f% x = 36° #dl y T 7 &F1I-

(A) 36° (B)16° (C)12° (D) 42°

Q.50 fa & w &1 7= - l 'g

(A) 100° (B) 110° (C)120° (D) 130°
Q.51 ABCD U% T T+l & af x &1 7 &hm-

.
® +, 13

A .

(A) 50° (B) 60° (C)120° (D) 70°
Q.52 Zr =Tt 3T 2x + 7y = 17471 4x + Sy = 11 & ufe=33i fag
5

(A) (4,-1) (B) (2,3) (C) (-1, 4) (D) (4,-2)

Q.53 UF HATHR HEBE BT AEad x3 - y3 - 3xy(x - y) 99
THTE & A BT B wAars, derd T T8 geh-

(A) (x-y) (B) (x+y) (C) (y - x) (D) B el

Q.54 fagait (3, -4) wd (3, 4) F g &1 gt 7@ HfFA?

(A) 6 915® (B) 7 315% (C) -8 713 (D) 8 AEE

Q.55 16000 F110% afia 72 | | ad &1 9%qfg =41 71
#ifsa srafe = ufd ewE 33 8-

(A) 91640 (B) 1800 (C) ¥2230 (D) ®IE &l

Q.56 &Afh d 4t 7 arre] ftv zomen v §1 anve] o # 4w
3z 3118 ¥ | Aot wer €1 F T O 7 3He] a1z R
T4 | 7T v & @ o ey ae

(A) 8/20 (B) 20/28 (C) 2/7 (D) 4/28

Q.57 36 + 4T + % X 3/2FTgA -

(A) 1/8 (8)19/8 (C) 19% (D) ®IE ¢l

Q.58 U URar ¥ UiT wewl @i sitwd anmg 21 a4 &1 qfEar &t
afsfed fed s v sitwa smrg & 9 ad #1 gfg & st 81 @@
wfear 1 31y B-

(A) 6634 (B) 7234 (C) 75 a4 (D) 84 a4

Q.59 wiger fait m @t 20 ot # womw = waar 81 af a8 10
& 7% wm & @t w1 B fSaan T e

(A) z/3"“‘1'(8)%"’ﬂ"T(C) %W(D) ¥s W11

Q.60 &t it 5w we=Asit 2, 4, 6, 8,10, 12, 6, 14, 16, 18, 20
&Y mfeAFT q41 g 2l

k(A) 16, 6 (B) 10, 6 (C) 14, 6 (D) 12, 6

\

fave fogor Hary were & wfaaifar 7
TATER Fa15d faaTea waer Wi ®a- 9 #igd 9w- 10

Q. 61 UF HEAT & BE HH 31 & 99T gl ¢ | T8 HEAT & -
(A)8(B)9(C)6 (D)2

Q.62 ufeig wwar -7/10, 5/-8, 2/-3 Fi 3RiE %9 # feaa
9% UTH EPTT-

(A) -7/10,5/-8,2/-3 (B) -7/10,2/-3,5/-8

() 2/-3,5/-8, -7/10 (D) 5/-8, -7/10, -2/3

Q. 63 TFH FHT 20 e 7T 44T 15 e e &1 30F Bef w
60 Hito 9t g3t fqwm w1 @ $20 ufd few Fr g | gom-
(A) 91000 (B) 7100 (C) 10000 (D) FNO0000

Q.64 UTE ATE # Wt HE1F FI0iT BT 41T FaT & -

(A) 360° (B) 90° (C)180° (D) ®iE &l

Q.65 T WA & A At4Te &1 2/ 5 aAfg 204 B HEAT Bhit-
(A) 720 (B) 680 (C) 384 (D) 30

fasm= fawg w smnfRa (66-100)
Tfamwdta vt & e AT

Q.66 "5iaTet i TE'R Tt i #

(A) seiifaar (B) Hfeae st wEae

(C) #fFw wrdz (D) FE4 RS

Q.67 et Tt G Ay Y A Bt

(A) 85- 95 it wfd &zt (B) 85- 95 fawt ufd ffae

(C) 100 i ufader (D) =i¢ fafaa a@

Q.68 A % e d P fer gl &

(A) ez & g B T (B) I WE | A1 FY iR

(C) B =ma | 7 #1 3R (D) IHIY 7@ | A ag z@
Q.69 A FI WHTad F34 a1t W NS &

(A) a9 (B) a4 (C) 3uf (D) Iwies |t

Q.70 e et wv qut sifers 2t & 7@i Y Sterarg @t
(A) wrEET (B) @99 3% (C) Pi @ 3mg (D) sifafeia

Q.71 W & TP T @RI el i1 WA & JTY FPT T4 5T,
FEAT &

(A) g 1 (B) *IffFTa STet (C) Wl 5Tt (D) TR et
Q.72 T H A Wit TA FUBR &

(A) &&® (B) wea (C) #ewe (D) IwRIE F3t

Q.73 AR AR I AT 5% 21 | 2R AR H el B FHT g
FEAT &

(A) @ @rET (B) wfaer (C) iRt (D) fastetawor

Q.74 9z 7 TR 22 & 22 A% &1 a9 @ we A fFea
T4 B Fed &

(A) F=it gz (B) T3 22 (C) %3 2 (D) HaR

Q.75 Torw iRt & ifiTes 1 waieT gt # fietmae # fara sman &
(A) diedt gt (B) uieferas #iz (C) @z %z (D) =1 #ie
Q.76 "FEE I o e R B Fed &

(A) vt (B) fawifaan () @ife® (D) Fredt @it

Q.77 Bfiiter fafer st a¥ieT &

(A) 7= R4 %I (B) Wdll &1 (C) *ZR0T &1 (D) Frearerd &
Q.78 397 Fsit &1 I &

(A) T (8) 34 (C) W% (D) Tedisit

Q.79 UIY® act WAH & 3Harid 3 &

/3‘\ (A) %4 (B) R (C) few (D)

. /
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Q.80 wiEfa® watawer & siasfa ama &
(A) wofa a5 (B) fstfa avg
(C) wsita 7 fasiia g4t (D) #iE @@t
Q.81 e I & faga aes g glar ¢
(A)100 @iz (B) 240 diee
(C) 1.1 9w (D) I93E H | FIg T8t
Q.82 diwest &1 {&Aq: T HE 2iaT &
(A) YRT 3= FHAT (B) uRT waTEd Fwat
(C) T4 &7 39 Fwal (D) I Iead Hedl
Q. 83 it W1 Pl wTga H WA B9 | fhaen e gar g
(A) 940 giwz (B) 220 ez (C) 440 diwe (D) 660 Fiwz
Q. 84 T4 g Wbe H WaT TgaT ¢
(A) & & AR TGeTaT1 TgaT & (B) T2aT AT 8
(C) wearsmar & (D) wfera vear 2
Q.85 "FB UM Zogeit I AT UTHT & U 3974 § 3 g
qTeZIoT I AU a2l € | 5T 3ee 48 1Y% acd aal reral
il & Pre-Tdi I A THH FH! BRI FA & 4 U Fgead &
(A) Pz aRE (B) ®ievaft (C) agzist (D) uwsiar
Q.86 fau & & #ia Frewah diu 721 2
(A) weavrE (8) Fwit ditur (C) switfar (D) giagefean
Q.87 |/ % I pH BT &
(A)6(B)7(C)7.4 (D) 6.5
Q.88 T4 I[HATHYVT 741 U H14 HvaT &, Al gal Y2l W U e
wma & ol Fea &
(A) TF@EEYYT 7 (B) 3@ (C) 99 (D) IHetg @Rt
Q.89 THEHI 31T F5ATE gt & WY |iY
(A) wear g (B) sraRafda wear &
(C) Fzar % (D) T F 7% Taal ¢ e wea wvran &
Q.90 f&w 73 & g1 agHvEA ¥ ZaTd HI AT AT &
(A) wiEddiez (B) &idier (C) waier (D) Ziidiey
Q.91 THEHIG 3T WaH HTHE Bel alel &
(A) Feftarer 3 fra varTenen # (B) W W
(C) Wt ® (D) g dd W
Q.92 TH= ZANE X TRV Frafd &
(A) =523 & fedra fam &t (B) =gz & waw A &t
(C) =gz % g faaa 3 (D) o« weavr &1 faaw
Q.93 "% od AN fEEt 3 71y B A a: 1S 6B W
e 8" 4% 35780 &
(A) =gz & fodta fam &1 (B) =gz & wouw fagw &t
(C) fora ufdfasar @1 &z (D) wa Hramr &1 faaw
Q.94 fauera & yarrenasit § f@R diees uw &4 & f@e
AT B9 | fw At w1 v fHar A g
(A) fFae da (B) ddbariol A
(C) = de (D) IUIH | | HIE A8
Q.95 T FHT H S H I UG BT BROT §
(A) werz 1 gz (8) ferreaera
(C) e (D) *prffa st »izRr % e
Q.96 SR &1 Hel T, P2l BRFL NG A &

(%) @ (8) stz (C) 3 (0) wwifwwadt  ( 4)

fave fror darg wers & wfaaifar @
TaTER qa15d faaTera WA wien Ham- 9 "ige Uw- 10

Q.97 ST YR YATAROT i FAaH Ugfud Fea ATeAT Ioatl &1 & &
(A) ®ern (B) fefaawigs tgifeas

(C) @®2r (D) Hiw

Q.98 o Yo Yo T EikT TTAT £

(A) ST Eiz § (B) ®ieit @it |

(C)ez@dw s (D) Iwre Wit &

Q.99 fafammer 35 &1 FRE &

(A) ¥t ugHvT (B) Fefas wguer (C) SiamE (D) Hoe!
Q.100 F2TE TIE T H FRF &

(A) St wguoT (B) Fefias wguor (C) S (D) uig




forvs frgor A werg & wiadifiar o
TATE? q415d faarera uaer uen $an- 9 Wise Yw- 10

STieHIel

10 21C 410 61 A 81C

2C 22D 42 C 628 828
3A 23 A 43 A 63 C 83D
4D 24 C 44 A 64 A 84D
5B 25C 45 A 658 858
6C 26 B 46 A 66 B 86 B
(B 27 A 47 B 67 A 87 A

8B 28 B 48 A 68 D 88 B
90 29D 49 A 69D 89 A
10C 30 C 508 70 C 2908
18 31C 518 71D N0

128 32C 52 A 72D 92 A
13A 33C S3 A 73D 93 A
14D 34 C 54D 74 C 94 A
158 35 A SS A 75C 95D
16 C 36 A 56 C 76 B 96 C
178 37 A 57 C 77C 97 8B

18 A 38 C 58 C 78 A 98 D
198 39 A 39 C 798 29 A
20B 40 C 60 B 80 C 100 B
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